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MODULE 5: MONEY

Arahan:
1. Modul ini mengandungi tiga puluh dua soalan. Semua soalan adalah dalam bahasa Inggeris.

2. Modul merangkumi enam konstruk yang diuji


K1 - Memahami soalan dalam bahasa Inggeris

K3 - Memahami istilah matematik dalam bahasa Inggeris


K5 - Menguasai konstruk pengetahuan

K6 - Menguasai konstruk kefahaman

K7 – Menguasai konstruk kemahiran


K10 – Memahami pengajaran dan pembelajaran dalam bahasa Inggeris

3. Murid hendaklah menulis maklumat diri dalam kertas jawapan objektif disediakan. Murid juga perlu memastikan maklumat konstruk, nombor soalan dan jumlah soalan seperti yang dibaca oleh guru di dalam ruangan disediakan dalam kertas jawapan objektif sebelum ujian.

4. Bagi soalan objektif, anda perlu menandakan jawapan dengan menghitamkan pilihan jawapan pada pilihan jawapan A , B , C atau D pada kertas jawapan objektif.
Contoh:

Antara berikut, yang manakah haiwan?

A.
Pokok

B.
Kambing
C.
Kereta

D.
Pen
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5. Untuk soalan subjektif, jawapan hendaklah ditulis pada kertas berasingan yang disediakan oleh guru.

6. Jawab semua soalan.

Modul ini mengandungi 13 halaman bercetak 
1 Two hundred six thousand four ringgit and fifty sen written in numerals is 

A RM206 004.15
B RM206 004.50
C RM260 040.15
D RM260 400.50
2 Write RM540 980.25 in words.

A Fifty-four thousand nine hundred and eighty ringgit and twenty-five sen
B Fifty-four hundred thousand ninety-eight ringgit and twenty-five sen
C Five hundred and four thousand ninety-eight ringgit and twenty-five sen
D Five hundred forty thousand nine hundred eighty ringgit and twenty-five sen
3 ‘Subtract ten thousand four hundred and two ringgit from twelve thousand and five Ringgit’ can be written as

A RM12 005 – RM10 402
B RM12 005 + RM10 402
C RM10 402 – RM12 005
D RM10 402 × RM12 005
4 Find the total amount of RM32 415.80 and RM210 138.50

A RM177 722.70
B RM242 543.30
C RM242 554.30
D RM534 296.50
5 Subtract RM90 875.50 from RM106 700.85

A RM15 825.35

B RM17 835.35
C RM197 576.35
D RM802 055.85
A RM8 323.07
B RM58 261.57
C RM128 261.50
D RM407 830.50
6 Multiply RM58 261.50 by 7

7 Divide RM275 040.80 by 8

A RM2 200 326.40
B RM1 075 040.80

C RM675 040.80
D RM34 380.10
8 Mrs. Lim bought a handbag for RM354.99 and she sold it at RM399.99.  

           What is the cost price of the handbag?

A RM45.00
B RM354.99
C RM399.99
D RM754.98

9 En. Zaki bought a van for RM35 000. He later sold it at RM32 000. 

            What is the selling price of the van?

A RM3 000
B RM32 000
C RM35 000
D RM67 000
10
What is the correct operation used to find the sum of RM51 432 and 


RM167 310?   

A Addition
B Subtraction
C Multiplication
D Division

11
The difference between RM812 431.50 and RM792 400 is RM20 031.50.

            What is the correct operation to be used?     

A Addition
B Subtraction
C Multiplication
D Division
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12
  RM24                  100 = RM2 400
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                         RM2 400                 2    = RM1 200

            What are the operations represented by P and Q ?

	
	P
	Q

	A
	+
	-

	B
	-
	+

	C
	x
	÷

	D
	x
	-


13
The diagram shows the amount of money that Hani has.
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            How much money does she have?
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A RM565.40
B RM610.40
C RM615.40
D RM705.40
14
Take away RM250 020 and RM384 000 from RM1 000 000 is written as

A RM1 000 000 – (RM384 000 – RM250 020) 
B RM1 000 000 – (RM250 020 + RM384 000) 
C RM1 000 000 +  (RM384 000 – RM250 020) 
D RM1 000 000 +  (RM250 020 – RM384 000) 
15
The table shows an incomplete bill. What is the value of X?

	Item 
	Quantity
	Unit price
	Price

	Prawns 
	3 kg
	RM12
	X


	A
	RM4

	B
	RM12

	C
	RM15

	D
	RM36


16 The diagram shows the salaries of four workers. The sum of their salaries is RM11 654.  


What is Zain’s salary?
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1

  x  RM11 654 

	B
	 eq \f(1,3)  x  RM11 654 



	C
	 eq \f(1,2)  x  RM11 654 


17
RM13 831 + RM5 406 – RM4 733 =

	A
	RM3 692

	B
	RM14 504

	C
	RM19 237

	D
	RM20 561


18
Find RM40 547.30 + RM71 125.20 – RM4 250 

	A
	RM107 422.50

	B
	RM111 630.00

	C
	RM115 922.50

	D
	RM111 672.50


19
  RM30.55 + RM19.90 - (RM15.05 + 45 sen) =

	A
	RM34.95

	B
	RM35.85

	C
	RM65.95

	D
	RM110.50


20
RM4 125 + RM6 050 ÷ 5 =

	A
	RM2 035

	B
	RM5 335

	C
	RM10 170

	D
	RM10 180


21
Calculate RM6 428.80 ÷ 10 × 12 

	A
	RM19 284

	B
	RM51 456

	C
	RM77 146

	D
	RM5 145 600
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22
Given RM982 500 -            - RM76 460.50 =  RM239 399

            Find  .

	A
	RM315 859.50

	B
	RM666 640.50

	C
	RM906 039.50

	D
	RM1 298 359.50


23
 Maria’s monthly income is RM2 400. She gives 20% of it to her father. 

             How much of her income is left? 

	A
	RM2 420

	B
	RM2 380

	C
	RM1 920

	D
	RM480


24
Which of the following is correct?

	A
	(RM326 794.50 + RM250 ) x  = RM654 098

	B
	(RM326 794.50 + RM300 ) x  = RM654 198

	C
	(RM326 794.50 + RM350 ) x  = RM654 289

	D
	(RM326 794.50 + RM400 ) x  = RM654 489


25
 The table shows the quantity of Malaysian currency.

	Money
	Pieces

	RM100
	1 000

	50 sen
	100

	10 sen
	200


              Calculate the total value of money.

	A
	RM1 460

	B
	RM100 070

	C
	RM107 000

	D
	RM1 061 300


26
The total amount of money received by Syahir and Syahirah is RM287.50. 

Syahir’ s money was RM13.50 more than Syahirah’s. 

How much money did Syahir receive?

	A
	RM561.50

	B
	RM301.00

	C
	RM157.25

	D
	RM150.50




27
Maniam bought a cap for RM40.50 and he sold it for RM55.

      So, Maniam ……………………………………

	A
	made a loss of RM14.50

	B
	made a profit of RM14.50

	C
	made a profit of RM95.50

	D
	made a loss of RM95.50


28
Mr.  Danish bought 50 kg of grapes which cost RM8 each kg. 5 kg of the grapes were rotten. He sold the remaining grapes at RM14.50 each kg. 


Which of the following statement is true?

	A
	He made a profit of RM252.50

	B
	He made a loss RM252.50

	C
	He made a profit of RM327.50

	D
	He made a loss RM327.50


29
En. Amir bought a BMW car for RM140 000. After two years, the price of the 


same model became RM135 000. 


Find the correct statement. 

	A
	The value decrease by RM5 000

	B
	The value increase  by RM5 000

	C
	The value decrease by RM257 000

	D
	The value increase  by RM257 000


30
The diagram represents the saving of four pupils in eight equal parts. Balam’s 


saving is RM750. 


Calculate Ani’s saving.

                                     Din          Ani                                                                                                                                                     

                            Din                        Ani                                                                                           

                            Din                          Ani
                                   Choo      Balam

	A
	RM6 000

	B
	RM3 000

	C
	RM2 250

	D
	RM1 500
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               The diagram shows the cost price of a jersey. Mr. Chong gets a discount of 

               RM1.50 for each jersey. 

               How much does he need to pay for 14 jerseys?

	A
	RM147.00

	B
	RM166.50

	C
	RM168.00

	D
	RM189.00
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                Mr. Muthu has RM5 638.

                How much more money does he need to buy all the items above?      

	A
	RM6 998

	B
	RM5 499

	C
	RM1 360



   Modul:                               5
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